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Instructions for the candidates:
1. goEms gur T s gl A 8 gY 7
Candidlates are required to give their answers in their own words as far as practicable.
2 TR g R W 7 5T 9% quie kT & &)
Figures in the right hand margin indicate full marks.
37 v 47 @ s e @ R 15 e o aRfia w e T §
15 Minutes of extra time has been allotted for the candidates to read the qua;rfans carelully. k
4 a'gm—we?@vsﬁ? R Gk M
This Q'UESHOH paper is divided into two sections — Sectlon - A A and gﬂon

qvs — 7 40 TEGAT 7T & Hﬂﬁmaﬁw#?fmﬁ%a?ﬁfwwﬁmﬁﬁé‘) FFHT TR

5.
gyeer v 79 OMR - TO¥ UA@ 4 R T we gw @ @ /A da 470 W
Bl ff TETe @ FETTR /A% AT/ S,/ AGT AT P T GawT & W we
777 & ST a0 RO I

" In Section - A, there are 40 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be invalid.
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in Sectlon - B, there are 22 short answer type questions. Out of theso, elght queslions are from Physics,
seven questions are lrom Chemistry, and seven questions are from Blology. Four qgueslions are to be
answered from each subject (Physics, Chemistry and Blology). Each question carrios 2 marks. Apart from
this. there are 6 Long Answer Type questions. Two questions from Physics, Chemistry and Blology. Long

answer type questions from Physics carries 6 marks and from Chemistry and Blology carries 5 marks
each. Answer of one from Physlcs, Chemistry aqd Biology is compulsory.

Bl @ @ saapim Sy @1 FANT QU AT &

Use of any electronic appliances is strictly prohibited.
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W8 -3, SECTION - A

Eﬁ‘a H¥1 /Objective T\rpo Questions
7o w1 @ 40 0 F E T 3 am my fwey fo o # A @ o i @19

g g7 7 Wi Re 8 OMR - iz g0 Rf a9 (40x1=40)
Question No. 1 to 40 have fornr oplions, out of which only one is correct. You have to mark, your selected
aption, on the OMR - Sheet. (40 x1=40)

b Rea o vem @ 3 W WRaear & qali qwm 22

-

A} T H R M) w A g
() v & T @ g
W mich phenomenon of light does the Tyndall effect show?
(A)  Reflection of light - (B)  Relraction of light
(C)  Dispersion of light - (D) - Scattering of light
&véﬂmtmhaﬂﬂé'q&maﬁwmmqum%?

- (A) @A | (B) [ S o

€ FhegmaeaaRFN ST efd (D) IOR o
Which lens can be used for correction of hypermetropia?
(A) Concave lqns h (B) Convex lens

(C)  Sometimes concave lens and sometime (D)  Cylindncal lens

convex lens

//fgaauf () 1 e R T ¥ - A
@/am Lom AW

(D)
Which colour has the largest wave - length?
(A)  Red | - (B) Bl
(C)  Yellow (M Vialet
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Accordme v Feming's left hand rule, the todex flnger of the left hand indicates -
(40 Direccop of dlevmiv foree spptind cn 2 (B Diection of magnetic field

aoadnee
O Dicectop of te flow of evmice curmat (D) Nowe of these
i 3 comdnctor
& TErEmiET @ T T Y
A2 ® 3
Ch £ (m 5
"How meny chaerhers are present i human beart?
[V I (B} 3
LT m 3
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Which one of the following lenses has positive foen] length

(A) Concave lens ()

() Plano-concave lens -

(‘onvex lens

None of these

10, o o ar A om ARRIOR Fad R vy ey i i afa we et B 64 maeh # 9f

Rreg ary 0 R A R Ul & gy gRadr gy 87

CYR »)

yih
e~ etoyry “
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A rectangular coil of a copper wire is rotated in g magnelic field, The direetion of the induced current

in the coil changes once in every -

(A) Two rotations n) One rotation
(C)  Half rotation - (D)  One - fourth rotation
E,V’ﬂﬁ’f—#f i s E“‘°|'_$ ﬁl‘({ SR %?
G s O
(C)  TEERH ®) TN PE
Which gas is responsible for the global warming?
(A) _- Carbon dioxide * (B)  Oxygen
,{Cj Nitrogen (D) None of these
2. [ T B g qx-fag @ -
@A) 259, B) 2534
© 2 fA | B
./
The far - point for the normal vision s -
(A) 25m (B) 25 cm
(C) 25mm (D)  Infinity
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(Cy
An example of h
(A) Our arm and dog’s foreleg
(C)  Potato and runncr of grass
14 ﬁgﬁmﬂmﬁmmﬁmr??

Ce--

— (A) @
& gfe

What is the commercial unit of clectric ¢

LS 1 i (B) Fars dta o gl ® &

s ot T & e yFard 1)]] TTae W

omologous organs are -
(B) Our teeth and elephant’s tusks

(M All of the above

(B) die /el

D) TR T
nergy?

(B) Watt/hour

(A)  Wau

{O) it (D) ; None of these
ﬁmmﬁmmmﬁmaﬁmma-
-

(A) ST AT

(C)  TEw (D) T @I A

The loss of oxygen from a substance during chemical reaction is called -

(A) Oxidation (B) Reduction

(C) Corrosion (D) None of these

7§ § B W o Gaenndl Aé 87

(A) @H ' B) &g

(C) & femmT

Which of the following is not a receptor organ?

(A) ' (B)  Eye

(C Nose . (D) Brain

1N | B dge Il

(C) ey (D) qqof

Which among these do not act as an cndocrine gland as well as an exocrine gland?
(A) Pancreas (B) Pitvitary gland
(¢  Ovary (D) Testes
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(A _ CH: (B) C-Hs
W CH ™ A
(A) CH: (B) C:Hs
AQ i (D) Allof these
-j_?.-— T T W T @ Sl € ~
AL g ® s
©  wgs M) - T 5 2E A
Male reproductive part of flower is -
‘_:“ Stamen (B) Pistil
@ Peal (D)  None of these

s

2 i R ahae ® FTER 30 % SRR v T Ree w1 e gh o o A
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iCi T] Ghioie TRl RIS (D} :.5;[# 71:' EF; qﬁ

Accerding 1o New Cartesian sign convention., the object distance of an object placed before a mirror
1s taken - |

(A) Positive (B) Negative

(o] Sometimes posilive sometimes negative (D) None of these

A= 9 S o IS 309 3 w0 5 TREE a9 9t 27

(A)  EEG B)  wGEE )
(O TEES s D FEIF
Which of the following compounds can be used as a fuel?
(A) Ethanol (B) Propanol
(C1  Ethanoic acid (D)  Allof these
32 TR & < oo @ R s o @
Sy @  ® - amm
)y - 3=y M) T DE T
How many bonds are formed between two atoms of hyvdrogen?
(A)  Single bond (B)  Double bond
(C)  Triple bood (D)  None of these
BBL Page 70l 16
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()
Which type of mode of nutrition is found in fungi?
(A} Saprophatic (B)  Holoroic
(§ Autotrophic (D)  None of these
Mg v oy N SRl @ R e d
A4 B 6
8 o
How many atoms of oxygen are there in one molecule of Glucose?
() 4 (B) 6
" 3 (D) 12
18 N N @ TT-aE @ R SeReRl R |
R R woEl qreml (B) W ¥ augl @ e
(€)Y T W B TEE (D) T RIS e I

Which is not responsible for Ganga's pollution?

{A) ' Fish farming in Ganga (B) Washing of clothes in.Ganga

() Immersion of unburnt corpse in Ganga (D) Emission of chemical effluents in Ganga

26, mmmmwmﬁmﬁw—wwmmﬁﬁmmﬁ?

&) T T B) s
Q) ST qW (D) T D T
Which mirror is commonly used as rear-view mirror in vehicles? |
(A)  Plane mirror - (B) _Concave mirror
(& Convex mirror (D) None of these
27, R 4 QB STER s T e 7
—TA) I, N R I WB) U, 959 T 4
(€) TR, T aen Erf (D) W, TN UL B
Which of the following constitutes a food chain?
(A) Grass, wheat and mango (B) Grass, goat and human
(C) Goat, cow and elephant (D) Grass, fish and goat
[112] 1 Page 8 of 16
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C
© A D) A g A
Bile juice is secreted from -
(A)  Pancreas (B)  Liver

(C) Small intestine (D) None of these

2. = W P M w0 A0S afifrardg

\

&A‘l CH. . (B) CiHs
O CHa D)  CiHe

Which of the following carbon compound is the most reactive?
&)  CHi B)  CiHe
(C) CzH4 (D) CiHs

-~

@;"_Wmﬁmmﬁﬁﬂiﬁaﬁmmm&

@) 4 ® s
NCEat -- ® 7
How many electrons are there in the outer orbit of an atom of sulphur?
@) 4 “ ® 5 -
- © 6 - ® 7
31 T R A e B RGN R s -
@A) e ® e
©  wedw ‘ @ THAIR T
The process of forming a thick oxide layer on aluminium is called -
(A) Galvanisation (B) Anodising
©) Enrichment (D)  None of these
[112] I Page 9 of 16
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(A} FRTA|
«r Afaum D)y -
Which of the following is an ideal source of energy?
(Ay  Cual (B)  Wood
() Petroleum (D) Bio-mass
A Rxws g wate i -
—
(A)  CaOH) (B)- " CaOClz
(Cy  CaCOs (D)  Ca(HCO3):
The chemical formula for bleaching power is -
(A)  Ca(OH): (B)  CaOClz
(C)  CaCO; (D)  Ca(HCOs)z
M P 4 9 @ woRe w8 |
«A) w_m‘ri%m (B)  cerfm
€  weer o) eHedE

Which of the following is a malarial parasite?
(A) Plasmodium (B) Leishmania
(C) Protozoa (D) None of these

W ¥ e Eﬂ'ﬁW BT SR %? '
. | . |
Howm Co® o
. H@W © R
Whrth of 1he f'o]lowmg is an example of rvsgonerat:n:m’J
'.{l]] Amoeba

(A) Hydra

{C) Spirogyra (D) None of these

Page 10 of 16
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\._.-
A} (§
Ry 7
(Y 8 D
i 9
Th.: ]'lH A .ﬂu; ol t\nn' WAteT i -
RY & " 4
iC b
) i 0
\F 1 a‘h \” Ur:h:l "'tT-ﬂ E‘\_ﬂd :r‘l JN‘F ?‘_‘ Lal ?
L
{A) HE3
{C) A :;.. \!fl_lh &
Sy (m FT @ Y a
Which substance changes colour of Red litmys imo Blue? T
(A) Acud 1] Base
({O) Solt

(M None of these

38, ‘T‘fv‘ﬁ"&'ﬁﬁﬁﬁﬁur\\.xﬁﬂwﬁmwmﬁmﬁww—q afer -

< N\
NEVER s BT wem 2
4§ suiefad v 2| (D) T ¥ BE a8
On decreasing the number of resistors fom a parallel combination of resistors. the total resistance
of the new combination of resistors in parallel - https:/ /'www.bihartopper.com
(A) Increases B Decreases
() Remains the same (M None of these
TR I RS RN W A Ram =
A RS 3 st NE SE A §) 1 I R e S S R R
\LC}"J- | RE o R RSP D R TS OE F ST
’ g1
Food cans are coated with tin. not with zine because -
(A) Zine 18 costlier than Tin. (B) Zine has a higher melting point than Tin.
(C) Zine 18 more reactive than Tin. (,m Zine 18 fess reaenve than Tin.
. @ e eew e 0
\ e )
A Ry iw (B) O ¥ RS
Rg/"' oY m R

Which is 2 non-biodegradable waste?
(A) Tissue paper (B) Peel of banana

(C) Thermocol N Al ol these
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wvs -8/ SECTION - B
Ix—awjfis_7¥1/Non - Objective Type Questions
g ST 9E/Short Answer Type Questions

fAF W/ Physics
w¥7 T 1 #JWWWfIW#WJWE}W#IWO‘mzw

Fuira &1 (4x2=8)

Question No. 1 to 8 is short answer [ype. Answer any 4 guestions. Each question carries 2
(4x2=8)

- M' . '
yﬁa@ﬁmmﬁm—mﬁw%wﬁaﬁwméﬂﬁ?
Why do we prefer a convex Mifror as a rear-view mirror in vehicles?

7 o 3, 25 QAL 3 e < TRl @ e i o dw T

is a normal eye not able to see clearly the objects placed closer than 25 cm?

Y
})m;ﬁﬂimﬁqﬁmﬁﬁﬁléﬁwawmuzmwmmaww& " (2)

Define refractive index. The refractive index of diamond is 2.42. What is the meaning of this

(2)

@)

statement?

%ﬁﬁﬁw$mmw@m$m$mWﬁﬂwmwmqﬁﬁﬂﬁ )
wﬁmtﬂlﬁ)wwaﬁ%ﬁl

Draw a ray diagram for image of an object placed on the principal axis of a convex mirror.

L]

Write the nature, position and size of the image formed by the mirror.

}//ﬁgaww%?ﬁgawmmwﬁ@r

What is electric current? Write SI unit of electric current.

6. U& fEE o o1 Agdie 60W, 20V, a’rﬁqaarrgﬁ’raﬁa’rmmovﬁgm%lﬁm )

g1 g g | fa owT o SRR @7
An electric lamp with voltage rating 60W; 220V is connected to main supply of 100V. What

@)

current is drawn by the lamp from the main supply?

yw%mm%?mwm%?

What is an earth wire? What is its function?

ﬁmﬁmqﬁwaﬁuﬁﬂamﬁ? | @)

Why does the sun appear reddish early in the morning?

" (2)

]
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T &S 9 I 10 iﬂﬁmmhﬁ##ﬁmwwma‘;
Questions

JSollowing.
9. (.

(®

(a)
- (b)

-””‘ﬂa}

(b)

v Iadm W/ Long Answer Type Questions

(6x1=6)
No. . .
No. 9 and 10 are I-ﬂ"g AHSHFF Type questions. Answer any one ﬂf the

(6x1=6)
A AR F W AHIST AN W |

ﬁmmﬁaﬁ@a@ﬁﬂn??ﬁtaﬁaﬁm&m%mmm
I o N e R P AR N E?
Draw a well labelled diagram of human eye,

How do ciliary muscles accommodate foca] length of eye. lens to see nearby objects
and far objects?

e MWW MWW
R, R,
m ﬁR =R, + R>

B R, %ﬂﬂm#wﬁmuﬁﬁﬁﬁmeﬂ?mmwnﬁm%l

Prove that R=R; +R2
Where R is the equivalent resistance of resistors R; and Ra connected in series.

R, ‘

1_1,1
‘ﬁ{aaﬁ'ﬁ_nl-{-ﬂz Ny
el R, IEdsmd § Waifed wfodiesi Ry AR R, B G9ged WRRw 3
1 .

1 1
Provethat — =—+ —
: R R! T R2

Where R is the equivalent resistance of resistors R and T -onnected in parallel.

ARFAR|
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A A/ Chemistry
@Y ud e / Short Answer Type Questions
vv wawr 11 @ 17 @y a0y 7w &) g7 0 et 4 gl @ g F/ IRF B [ 2
aw i &1 ' (4x2=8)

Queggion No. 11 {0 17 is short answer type. Answer any 4 guestions. Fach question carries 2 .
' (4x2=8)

(2)

marks.

yie”frar sPafiar g s SR @ o @ wfer |
Write one equation each for decomposition reuction and combinat jon reaction.
%@%mﬁm@%%ﬁmm & |
Differentiate between washing soda and baking soda.

13. amﬁawﬁéﬂwmaﬁaﬁaﬁm%,wﬁmﬁmﬁmﬁ? _ )

(2)

Why distilled water does not conduct electricity, whereas rain water does?
Mﬁmmgmaﬁﬁ?ﬁﬁmga%ﬁmwlé'!"‘ (2)
What are alloys? Give two éxumplcs Of&!“l.l_';‘\. 5
%wwﬁwﬁa#mmwn e
Give two ways to preven E‘ iron from ruﬂl_i!ll 9. |
16. i 3R ETRRA A W Al @)
Draw it siructure for Benzene wad Cyvrouenane, |
17. @& 7 s R & anjfRe arad mvﬁ-fi . 3] ﬁmﬁ H T G §7 (2) .
How the clectronic configuration of an atom is related to its position in the Modern Periodic

table?

(11211 T Page 14 of 16
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{3 9%/ Long Answer Type Questions

o & 18 3N 19 e amda &) gy 3 eht v @1 gee 2, (5x1=5)

following,
18. Fy=ieisa affsa] & &2
L m TEIT FRfEm
) TiewrTs e
() RN a

What are the following reactions?

(5x1=5)

(t) Addition reaction
(i1 Substitution reaction
()  Esterification reaction
19 et ¥ g @ P 4 g 7 9 R

Write the steps involved in the extraction of metals from their ores.

SHAfAS / Biology
Y ST 7 / Short Answer Type Questions

-

T¥ G 20 @ 26 agaﬁﬁzrmé’ls'##z%%%nﬁféaﬁ?é’;ma%ﬁw

“=

g% [FEiRa &/ (4x2=8)
Question No. ;?0 fo 26 is short answer type. Answer any 4 questions. Each question carries
n'mrks. * (Ix2=8)

AT dreeT G T o F qan sieR 2

Differentiate between autotrophic nutrition and heterotrophic nutrition?
BT F41 €7 31 Ry & 31 AW Rl |

Define hormone? Name any two plant hormones.

22. T PR Il TR @ 7 BRY & wed

Give reasons for adopting contraceptive methods?

2

[112] I . Page 15 of 16

| https://www.bihartopper.com



23, Wﬁwmwftmfﬁﬁl @

7 Distinguish between self-pollination and cross- pollmaf{ 1094,

4. ﬁﬁmmﬂﬁmwmﬁ? @)
What do you mean by biological magnification?

25, R @ v T @ f @ e < o
Give two suggestions to mﬂke your school environment fricndly? |

L . @

gjm#mmmﬁma? .

How is food transported in plants? |
[ ”

&% 3 99/ Lonig Answet Type

e gET 27 i 28 O aaday W ) g9 Aeh o ar o 31 (8x1=3)
Questions No. 27 and 28 are Long Answer Type Ques‘,ﬁoiis'.' Answer any one of the
following. (5x1=5)
Wqﬁﬁﬁﬂﬁwmﬁﬁ&rﬂwwﬁmaﬁwl (5)
Draw a well Iabelled diagram of human dlgesuvc system and describe the dlgestmn of food. _
28, AT ARAEE B G HT JU N | &)
Describe the structure of human brain.
https:/www.bihartopper.com
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